Hanks:

A ﬁ&al MMbers

\) P\'oua ‘an,\' 2SS 8 i\'m}fio\nal

2) Prouva that |5 is ivrational
3) Prove Yhat 64§z is ircaYional

q) Prove

Yhat 3{S s irrational

5> P*cow. ‘ol FHIE s ivrational
6) Provo. thal 54353 is ivroYiond

}) prove
%) Prove
°\) Prove
\o) Prove
l\> Prove

\ q) Prove
\Y) Prove
l6> prove

H’) 9 prove
\%> PYO\( '3

\‘D P“N"
2—() P(ovo.

?—9 onvo_

thot 342 is ivrationa
thar {3 s irrational
thok 23+208 s irvakional
Yhok {3 {& irvakional
Phok 5-T3 is ixrationo)
Mot §3 18 irrakional
Yot 3-218 is ivvational
4 2= a5 is ivcolional
Yoot S+J3 I8 ixvational

sk £~ 0 ivraYional

Yhot - is irrational ii)_\._ & syrational
T J23

Bah LT 78 Trmdiona)
that 6403 is irradiona)

'an& I+513 IS irra\-ional
Yhat 2+4fs s ivrational
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) Find the prime Jactorisation of the ][Onow;n&
Q) 30 b) 156 o d) 3825 © Soos  §)742 g) 1y
h1ae i) 3ga §
2) Stale Fundawenta)  Yheovem of Aathmatic
) Hep of wy and 920 is 12 Yhen thar Len s
4) HCF of o and b is 24 and  that of cand d s S6, then
hep of a,b,e, d s
5) What s the Hef of two consccutive positive 'm\maUS?
¢) Find the WeF of 510 and Q2 B(\j pYime —So.c%oﬁsdﬁon mathod-
3) L HCF of 306 and 65% is 9 -5—%(* LcH
S) B XN X134 (s a wmposih awmbon 7 and Fx6 xS X Yx3 X 2X145
q) Eiad  the % gm'm OJL the decimal nuwmber 0338
o) The wnt digit a6 s —
19 HeE of two numbers is 5 and  their product is \So, then
Lind  Len \8) 3§ Len(20,0) = 6o, MCF (29,x)=2

\1> Hakch the :f*o\\owi\}j: TR

) Len (4,9) a) 2\

M) Len (2,3) b) 24

i) Len (&%) <) e
\3) F‘mdm ‘tz\amd\-&g and ‘Ng'h%);;c)r’:zg& DLjaf,aﬁ\nﬁo:‘s M) £, and 2§
lq) The 7 tofal number 7o tors Q.L PYime nuwmber is
\:’) 6" can and  with the c\ia'.\? o Fov omd natural numben n

C’\'mc.} False)
16) T the BF of 60 and 1o is ervo_ssiblfl in the :{orm

6om —110 , then +he value o} wm IS
13) 1f— o and b are coprimes then HcF(aL;\o> s




